SET-A

PART - 1 (Teaching Ability, Reasoning and General Knowledge)
qm - 1 (mmﬁ.aﬁﬂﬁﬂﬁmm)
(Question Number 1 to 100) / (ygr H&aT 1 | 100 &)

Teacher uses visual-aids to make learning—
(A) Simple

(B) Quicker

(C) More knowledge

(D) Interesting

The most important cause of failure of

teacher lies in the area of—

(A) Interpersonal relationship

(B) Verbal ability

(C) Lack of command over the knowledge
of the subject

(D) None of these

Which is the least important factor in
teaching—

(A) Punishing the students

(B) Maintaining discipline in the class

(C) Lecturing in impressive way

(D) None of these

For showing the model in the teaching of a
topic teacher should—

(A) Keep showing throughout the lecture
(B) Stand in front of the model

(C) Show model when need arises

(D) None of these

Who wrote ‘Indica’—
(A) Kalidasa (B) Kautilya
(C) Magasthenese (D) None of them

Who is appointed as the speaker of 16th Lok
Sabha ?

(A) Arun Jaitly

(B) Sumitra Mahajan

(C) Sushma Swaraj

(D) Govind Singh Kunjwal

1.

FUE 39 WEA & AN FEAH FH
frfafaa s & forg e &—

(A) T

(B) §99 594 & forq

(C) it s & forg

(D) ®faat 794 & fo

FETE & FAFAA F TGY §ST BT o—
(A) SFafRTE T

(B) a1, T&T

(C) faw & T yarw Fa=wr 7 g
(D) SWE § #E el

YT § Y SFEF FHE HF e—
(A) BHET & TUE &

(B) &l ¥ ST W&

(C) TETa9ITel & | =ree &

(D) Jaea # @iE 78

et ure & fyreror ¥ wfsw & Sw@m & w9y
farers @ T TfeT—

(A) 8 SR & A AR Ra@ar QiR
(B) Aisd@ & WA @e 1 wIfeT

(C) smasasar 8 W fREmr Tty

(D) &9 & ®IE T8

‘ozEr & dEs B a—
(A) FwiRE (B) Fifew
(C) FTregsrer (D) && @ 3 7@

1691 TEdT & ey @ w9 ¥ 5 g
frrmar e 2

(A) & FATa

(B) gf¥= weror

(C) go T &

(D) M= e Femam
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10.

11.

12.

13.

14.

Annual Ratha Yatra of Lord Jagannath takes
place in which of the following state ?

(A) Tamilnadu (B) Karnataka

(C) Himachal Pradesh (D) Odisha

Who is appointed as the arbitrator in
Vodafone tax dispute case ?

(A) Ashok Chawala (B) R. C. Lahoti

(C) K.K. Malhotra (D) M. B. Shah

An example of audio-visual media is—
(A) Charts (B) Television
(C) Radio (D) Models

An example of maturation is when a child
learns to—
(A) Walk
(C) Read

(B) Draw
(D) Ride a bicycle

Which of the following is not a domain of
learning—

(A) Cognitive
(C) Conative

(B) Affective
(D) Spiritual

Ram returned the pencil, he took from Seeta’s
desk because he was afraid of punishment,
if he got caught. This illustrates Kohlberg’s—
(A) Pre-conventional level

(B) Conventional level

(C) Post-conventional level

(D) None of these

‘Konkan Rail’ directly connects—
(A) Delhi to Chennai

(B) Dehradun to Tanakpur

(C) Jammu to Kanyakumari

(D) None of these

“Operation Black Board” was the outcome of—

(A) Kothari Commission

(B) National Curriculam Framework - 2005
(NCF - 2005)

(C) National Policy on Education - 1986
(NPE - 1986)

(D) National Curriculam Framework - 2000

7.

10.

11.

12.

13.

14.

(NCF - 2000)
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AN =g it aiftfs @ aEr et
T & & forad v &t 2—

(A) afaerg (B) FAfz

O femee Ry (D) @

T FTe & wre & weaem @ w0
frge frr mar & -

(A) o9 9w - (B) oIR. 9. @
©) & % 9=m (D) w. 4. 5
3Y9-H WTAH & IEET E—

(A) =i (B) e

(C) W= (D) =tew
gﬁqaaqummm%ﬁamm%ﬁ@m
(A) T&T (B) iR &¢m
(C) v (D) wrsfra T
=1 & & a9 @1 o aftrm @1 e T

3

(A) TSHTHE (B) HETEF
(ORETINET (D) smeafers

T A Hia & 36 § o g Afvwe afte w@ &
it I IHT AW T AT Hw @1 S a1}
Tz FEae & 59 W F gan § 2

(A) [T AT ')

(B) TG &R

(C) TT-ITITG T

(D) &7 & #¢ &

‘BB I A Aredr &

(A) Rt 3T =€ &

(B) TG AR TG H

(C) 7= AR F=argrrdt

(D) =¥ & #rg &
“IIT = S g ar—

(A) ST AT F

(B) US1T qraassy T - 2005

(C) Usfia Jfera T - 1986

(D) TS1T qrggsH @A - 2000
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16.

17.

18.

19.

20.

21.

v

Rural Development Minister Nitin Gadkari
launched the Shyama Prasad Mukherjee
National Rural Mission on ....... with an
allocation of 100 crore rupees.

(A) PPP model

(B) PTP model

(C) VTZ model

(D) STS model

Who is the Army Chief of India—
(A) Vikram Singh

(B) B. S. Chauhan

(C) D. K. Jain

(D) Dalbir Singh Suhag

When is Anti-Terrorism Day observed ?
(A) 20 May (B) 23 May
(C) 22 May (D) 21 May

The Education Minister of Uttarakhand is—
(A) Harish Rawat

(B) Dinesh Agarwal

(C) Mantri Prasad Naithani

(D) Preetam Singh

Project teaching method is associated with—
(A) Frobel (B) John Dewey
(C) Ammstrong (D) None of these

When the child is ready to learn, he learns
more quickly and effectively. This principle
was given by—
(A) Thorndike
(C) Paviov

(B) Skinner
(D) None of these

A teacher in a classroom should act as a—
(A) Progressive role (B) Boss role
(C) Democratic role (D) None of these

The objective of teaching is to—

(A) Create good citizens

(B) Create persons who are useful for the
society

(C) Create socialistic persons

(D) All the above

18.

16.

17.

18.

19.

20.

21.

22.

o farm w=h Ffe e A 7
AR W 100 HUS T & A€ & WY
T IS @ T Jrrer e 6 e
fopan)

(A) drdrd. Hisw

(B) .34, Aigd

(C) e Se. wizd

(D) ug.dL.ug. Higa

aRE & ¥ 9@ & e
(A) fesrm Rz

(B) 1. TH. e

(C) & 3.

(D) TweR f¥e gem

ATFae-fh Rew &€ 79 oW
(A) 20 5§ (B) 23 W&
(C) 22 o (D) 21 7

FaaEvE & fIren w=h ¥-
(A) Bl Taa

(B) ey st

(C) 5=t yaIE gt
(D) s fRie

worere fawr fafty fFaa a=fag -
(A) WiEd (B) &t S
(C) s (D) T § i &

W SIS deq & fog 4OR g &, 99 98
el 9 THTEYTE! ade | 9@ ¢ 1 98 e
frae wfauiiea frar 2

(A) gFfees am (B) R Tm@

(C) urasita g (D) &% ¥ FIE &

e frers & e ® S e Sifeu—
(A) wiiodi v & (B) ¥ 31 gt
(C) woimaits Y & (D) $7° § &is 6

forem &1 9gevE &-

(A) 3BT AFMRE T

(B)Qﬁwﬁaﬁmﬁqmvhaw%m
JUTERT &

(C) =rgeiiear &1 fomfor &

(D) S |t
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23.

24,

23,

26.

27,

28.

29,

30.

. (©) Four

How many individuals were awarded the
2014 Raman Magsaysay Award ?

(A) Five (B) Six

(D) None of these

World Elephant Day was observed across the
world on which day ?
(A) 11 August
(C) 12 August

(B) 19 July
(D) 10 July

An effective teacher is one who can—
(A) Control the class

(B) Give more information in less time
(C) Motivate students to learn

(D) None of the above

The FIBA Asian cup is associated with which
among the following sports ?

(A) Table Tennis (B) Hockey

(C) Football (D) Basketball

While teaching a theoretical topic in the class,
teacher should proceed from—

(A) Unknown to known

(B) Concrete to abstract

(C) Reasoning to observation

(D) None of these

A teacher can minimize depression among
students by— :

(A) trying to understand its causes

(B) motivating the students

(C) Aand B

(D) reporting to Principal

Microteaching is most effective for the
students—

(A) During the practice teaching

(B) After the practice teaching

(C) Before the practice teaching

(D) None of the above

Value education makes a student—
(A) Doctor (B) Good citizen
(C) Engineer (D) None of these

23.

24,

25.

26.

27.

2%,

- 29,

30.
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ﬁ'ﬁa‘-’rwﬁaﬁﬁrzomwﬁnﬁﬁwﬁ
g T T & 2 :
(A) 9= (B) ®:

(C) 9r (D) T & =i 78

faw enedt fgw gfmn w & e R wmn

AT E ?
(B) 19 Fs

(A) 11 3FTE
(C) 12 st (D) 10 Faré

% U e 9 §, S @ g B
(A) F&n R Fa=or

(B) ®% wag # aifes® gaam o

(C) faenftiai = drgw & foo aifmia &
(D) T8 ¥ = FEl

FIBA ufirar &y frafafes @ & 4
F=faa & ?

(A) w2 (B) &t

(C) wzata (D) IrEhETw

FUT ¥ uF giivos g en & fu e
& = % § ggreT fee—

(A) 399 | w

(B) 3 & qIW

(C) & | fordieroy

(D) T ¥ =g 78

BTET F AT B FH FE B [0 SATTE
FX GEHAT B—

(A) TED HON H FHA BI DI BT
(B) Bl ®r Hifede &

(C) A 3B

(D) aHETE & gRad &

ArEHREeT sE-eEne & fou feg smfa ®
TEY WA BT 8- :
(A) frerr aramg & AR

(B) fareror s & 919

(C) fareror aamE 4§ ysw

(D) ST & #E TE

TeasTentia v BT B ;= o o
(A) STHRT (B) /1 A
(C) g (D) &7 & FE T
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2.5

33.

34.

35.

36.

37.

38.

39.

District Primary Education Programme
(DPEP) was launched in the year—

(A) 1986 (B) 1984

(C) 2001 (D) None of these

How many gold medals were cinched by India
in 2014 Glasgow Commonwealth Games—
(A) 10 - (B) 12

(C) 14 (D) 15

in alively classroom situation, there is likely
to be—

(A) Occasional roars of laughter

(B) Complete silence

(C) Frequent teacher-student dialogue

(D) Loud discussion

In your view, teaching is—
(A) An Art (B) A Skill
(C)A&B (D) None of these

Area of individual differences is—
(A) Gender-difference (B) Body structure
(C) Mental abilities (D) All the above

A child who behaves against the social rules
and regulations is called—

(A) Delinquent child (B) Idiot child

(C) Dull child (D) None of these

Kumar Sangakkara (Cricket player) belongsto
which country ?

(A) India (B) Sri Lanka

(C) Pakistan (D) Australia

For the students of 3rd class, which will be
the best way for teaching ?

(A) Lecture Method

(B) Creational Activities

(C) Group Discussion

(D) Laboratory Method

The academic performance of students can
be improved if parents are encouraged to—
(A) Supervise the work of their wards

(B) Arrange for extra tuition

(C) Remain unconcerned about it

(D) None of these

1.

32.

33.

34.
3s.

36.

37.

38.

39.
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v s fren erdww fea ad @ fea
T a9

(A) 1986 (B) 1984 |
(C) 2001 (D) T & T @

9014 THTET TLAYEA @l § WRA o fEad
@l 9TF Ad—

(A) 10 (B) 12

(C) 14 (D) 15

s goia Fan Rafy § Frefufes § @ @99
ey gt B—

(A) T F9R & & R

(B) If w9 & g

(C) fareres-gr amat

(D) FenfRfai & €9 g T

(A) T &Ha
(C) A AXBIFET (D) &9 & FE T
= faftr=rarel & &% &—
@R  (B) RE
(C) WM& drgard (D) S a4l
g Fawi @ sl @ 9w 9er ¢
T qTAH FEATT E—

(A) 919 STl (B) sEfE I9E
(C) 7=gfE sw& (D) ¥ & FE 76
FAR g 6w aw @ frde faendt -
(A) 9@ (B) e

(C) T (D) sitefean

TR - o & famRial @ foo e § § @
fareror 1 wEE w1 T BT—
(A) @ fafa
(B) goreTe ok Feg
(C) ¥9E gratemy
(D) warmgmen fafe
faaftial & sreefe e @ gom o
Tar & afe sfrarast &1 Stea e Sa—
(A) 7= & F1d F1 fdeo & & oo
(B) St/ gy &1 Yo=Y &<+ & fog
(C) T8% a1 ¥ fifqa 7 89 & form
(D) T & FE &

021503A



40.

41.

42.

43.

44.

45.

46.

If a student often comes late in the class you
would—

(A) Talk to his parents

(B) Complain to Principal about him

(C) Punish him severely

(D) Find the reason and then decide accordingly

A school girl developed the habit of dropping
the coat on the floor. Mother asked the girl
to get out of the room and hang up the coat
on the peg. The girl enters house keeps coat
on, approaches closet, hangs up the coat on
the peg. It is an example of—

(A) Chain learning

(B) Stimulus response learning

(C) Concept learning

(D) All the above

A process in which an individual leamns new
responses by observing the behaviour of another
rather than through experience is known as—
(A) General Learning

(B) Social Learning

(C) Experimental Learning

(D) None of these

A provision for education for the children
with disabilities can be made through—
(A) Integration

(B) Main streaming

(C) Inclusive education

(D) None of these

For primary school children, which of the
following is better ?

(A) Video simulation

(B) Hands on experiences

(C) Experimental

(D) None of these

“Toy age’ refers to—
(A) Early childhood (B) Babyhood
C)A&B (D) Late childhood

Tobacco addiction is due to—
(A) Cocaine (B) Caffeine
(C) Nicotine (D} None of these

T SE
40. FE FET ¥ U B @y faew F
'q"{...
(A) 3% ARMEH T 99
(B)Wé%mmaﬁﬁ

(D) FR H AF TegER otz o

41. TF W AW A1 TR A B W ¢
! ST T O & | TSH B A F IHE FA
FH & BT AT AR A B EH W
TSH AT FR W H JI97 Fa! 8, FIE A
W TEEH ATEN & qE A FT HIE F 3
R T A T | T TaTET B
(A) JEwrTa Afere &t
(B) Sgea srfeRan siftrm @
(C) =g sftem &y
(D) 35 Tt

42. Frg sfrn ¥ =fe @l @ @TTeR A 2
g‘t@m%qf?mm% & FHE
(A) gM=g aft
(B) grnforas tfermy
(C) wraifs sftrmy
(D) T8 & % TEl

43. o Tt @ By 3 g gege 6
qHaT E—

(A) FIEE &0

(B) g&¢ oI ® I@E
(C) gwrafia faren zm
(D) ¥ § &S &

44, wrafies o & T & g =
JER 9 ?
(A) fafsar srgEuT
(B) @d & g fhar a1 e
(C) warmsE

(D) T | &% T
45. ‘faet @ A FET A -
(A) @ grarEe (B) Styraraed
(C) A ST B Al (D) I I4E@R
46. T B AT [FHE BT 6
(A) FHH (B) &%
(C) Frifes (D) T8 & 3
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47.

48.

49.

50.

51.

s52.

53.

54.

th
2

What is the minimum age for marriage of
boys and girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 20 years

(D) None of these

Break down in verbal communication is
described as—

(A) Short circuit
(C) Unevenness

(B) Contradiction
(D) Entropy

Photographs are not easy to—
(A) Publish (B) Secure
(C) Decode (D) None of these

The National Disaster Management Authority
functions under the Union Ministry of—
(A) Home affairs  (B) Water Resources
(C) Defence (D) None of these

Which one of the following is the best

method of teaching ?
(A) Lecture (B) Demonstration
(C) Discussion (D) Narration
The famous temple ‘Dhari Devi’ is located at—
(A) Near Srinagar  (B) Uttarkashi
(C) Chamoli (D) Pithoragarh
4:9::2:27
(A) 8 (B) 6
(C) 16 (D) 13
The sum of—
4243 +4+5 ... + 100
(A) 5000 (B) 4500
(C) 5050 (D) 4050
9 s +7 2 9 L.
4 17 15
817 717
. 71020 g 1020
817 717
©7 1020 (D) 8 1020

47.

48.

49.

50.

51.

52,

53.

55.

SET-A
uE # wee 9 weiwdl @ faare ara gHaH
AqGFME ?

(A) 21 3¢ 71894

(B) 189 g 21 a9

(C) 18 9d 720 9d

(D) T ¥ I

Hifes gaR § =quH & Fed t—

(A) @Y qRag (B) srafadg

(C) s (D) Tl
BIA-RET & oo HTT AEH E E |
(A) FHIT (B)

(C) feriaba (D) =¥ & &€ 7
TG AR Fa= Wereeter &% & feohd T
% yHE w1 FE@E ?

(A) & " (B) 9@ waEH

(C) (D) T § B &
?ﬂﬁiﬁaﬁ%ﬁmmaﬁﬁqmaﬁam
(A) =T (B) wes=

(C) feram femst (D) T

yfae ‘ard ey afex fag -
(A) SR & Jodis (B) Sl 4

(C) =¥ | (D) frelrre &
4:9::9:27
(A) 8 (B) 6
(C) 16 (D) 13
1+2+43+4+5.......... + 100 FT gqrT—
(A) 5000 (B) 4500
(C) 5050 (D) 4050
92472t
4 17 15
817 717
(A) 71020 (B) 71020
817 717
© 7}020 (D) 81020
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6. a__bb__baa__bbb__aa
(A) aabba (B) bbaab
(C) abaaa (D) baabb
57. AZ,CX, FU,
(A) IR (B) IV
©JQ (D) KP
58. +PSVYB, EHKNE}, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
Note: Q. Ne. 59 te Q. No. 62 depend upon
the following coding.

o b 0O A

Figure $ D _i
Code . 8 9
59. Which number is presented by fo]lowing
figure—
G Ogp B
(A) 16198 (B) 79168
(C) 79816 (D) 17968

60. Which number is depicted by the following
figure—

OCEARD

56.

57,

S8.

-
“-—- .

39.

60.

61.

62.

(A) 24672 (B) 46772
(C) 72246 (D) 27462
61. Which number is presented by the following
figure—
(A) 56714 (B) 19844
(C) 56744 (D) 56144
62. Which number is presented by the following
figure—
(A) 47645 (B) 45754
(C) 54674 (D) 74654

10
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a__bb__baa__bbb__aa
(A) aabba (B) bbaab
(C) abaaa (D) baabb
AZ, CX, FU,
(A) IR (B) IV
©) JQ (D) KP
,PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
% €. 59 ¥ 62 Prfafes =7 @ oo
wE
i c{# ™ @ ﬁ X
7
b Q '@ D _i
FE 8. :
ﬁwﬁﬁr aﬁ‘-r Fﬁ T EF! ‘rﬁﬁr T |

Pt

(A) 16198 (B) 79168
(C) 79816 (D) 17968
=it g F15 €1 ' wiva et
g7
ODEARD
(A) 24672 (B) 46772
(C) 72246 (D) 27462
frifra & # @ gen wefifa et & ¢
(A) 56714 (B) 19844
(C) 56744 (D) 56144

AGRA YN
(A) 47645 (B) 45754

(C) 54674 (D) 74654
091503A



63.

64.

65.

66.

67.

68

69.

70.

Complete the following Number Series :

1, 3, 1L, 4% s , 1439

(A) 239 (B) 293

(C) 932 (D) None of these
15,10, 5, 150,16, 12, 4, 192,20, 15,5, s
(A) 700 (B) 600

(C) 400 (D) 300

2,20 120, cowies , 3190

(A) 220 (B) 330

(C) 440 (D) 630

How many rectangles are there in the
following figure—

L |
(A) 9 T ®) 10
(C) 16 (D) None of these
Find the missing letter in the following table—
A|C|E
NIK([H
RIVI?
A Z ®T
©L D) 1

. Inthe following figure how marny triangles are there—

=
/
(A) 11 (B) 14

(C) 16 (D) 22 or more

IfA=1and AID = 36, then BELL =?
(A) 16690 (B) 2210
(C) 1440 (D) 1210

Who has been appointed as the new Railway
Minister—

(A) Suresh Prabhu

(B) Manohar Parrikar

(C) Bipendra Singh

(D) Jagat Prakash Nadda

11

63.

64.

65.

66.

67.

68.

69.

70.
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o=t de Aoft # g #if
1,3,11,47, ... , 1439
(A) 239 (B) 293
(C) 932 (D) &% & &
15,10, 5, 150, 16, 12, 4, 192, 20, 15, 5, ........
(A) 700 (B) 600
(C) 400 (D) 300
2,20, 120, ........, 3190
(A) 220 (B) 330
(C) 440 (D) 630
% fea i ot ey o -
l |
(A) 9  ® 10
(©) 16 (D) T ¥ FE @
forr # & € enforeer 3 g2 BT oTeR @ oft Fhifr—
A|C|E
N{K|H
RIVI?
(A) Z BT
©L D) 1
& TE o # BryEt @ der s dife—
——
/
(A) 11 (B) 14
(©) 16 (D) 22 a1 sfers

it A=1 3R AID = 36, @ BELL =2

(A) 16690 (B) 2210

(C) 1440 D) 1210
WA= % e A e g e
(A) g1 7Y

(B) HAIeX UIfiax

(C) fats R

(D) STd WehrgT HATST
‘ 091503A



7 (" has launched the new Guaranteed

Minimum Pension Scheme in Dehradun.
(A) Menaka Gandhi (B) Smriti Irani
(C) Dharmendra Pradhan (D) None of these

72. The state game of Uttarakhand is—
(A) Cricket (B) Badminton
(C) Hockey (D) None of these

Note : (Q. No. 73 to 77) Choose the correct
figure from A, B, C, D in place of
question mark (?) i.e. make a full series.

Q] »
][

(B) (C)
UL

73 Question Figures

Answer Figures

Question Figures

74. uul ?

Answer Figures

75, Question Figures

Answer Figures

76. Question Figures

Answer Figures

77 Question Figures

Answer Figures

(A) (B) (©) (D)

73.

74.

78,

76.

(D)

I AR

w§T fe

T AT

pESECEAT]

iR LY ¢

oot



78. Match list I to List II—

List 1 List 1
(Name of MLA) (Constituency)
(a) Dinesh Agrawal (1) Khatima
(b) Subodh Uniyal (2) Dharchula
(¢) Pushkar Dhami (3) Dharmpur
(d) Harish Rawat  (4) Narendra Nagar

Code—
(a) )] (c) (@)
(A) 3 4 1 2
(B) 1 3 4 2
(C) 4 3 1 2
(D) 4 3 2 ]
79. The state animal of Uttarakhand is—
(A) Lion
(B) Cow

(C) Kasturi Mrag
(D) Elephant

80. Mil Mi-17 is a/an .......... helicopter.
(A) Russian
(B) Indian
(C) American
(D) None of these

81. The official state second language of
Uttarakhand is—

(A) Hindi

(B) Sanskrit
(C) English
(D) Jaunsari

82. Who was Tapan Ray Chaudhary ?
(A) Historian
(B) Economist
(C) Painter
(D) Actor

78. gt 1 &1 fe g
gt 1
(faemas &1 ™)
(o) Ay smmE
(b) g Sfram
(c) ToFT Tt
(d) 091 TEd

SET-A
| HI—
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(frem &= &)
(1) @
(2) arge
(3) =g
(4) % TR

@‘_

(@) (©) (
(A)
(B)
(©)

(D)

s b - W
'—'P\JMM&

TUEE F ALY 9g] &
(A) R
(B) T

(C) &&a g
(D) et

79

80. THIETA.CLAE-17 TG .......... T & |
(A) &1

(B) wiEda

(C) i

(D) 8 & FrE e

81. Tw@ve & fawiie fedm e 9o
3
(A) &=k
(B) wegd
(C) T

(D) SHETRI

T T 9 B & 2
(A) ElqE®aER

(B) sredsmest
(OREEE

(D) @1fran

82.
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Note : (Q. No. 83 to 87) Choose the right neat

86.

87.

figure from the answer figure which one
is the next right figure for the question
figure series.

Question figures :

siiniinlizlls

Answer figures :

HHBBH

(A) (B) (C) (D)

Question figures :
4 =0l=0 xjoxOlx A =[S
% * = o

x n

Answer figures :
=0 Xl =Q=E0X=0C6@¢
€ A S

(A) (B) (C) (D)

Question figures :

G2
&

&z

O Ir

@ -9»[“ i
e— i |
< o g__is i
Answer figures
! )
> 0 | o
-l - o< |

>
~

(A) (B) (C) (D)
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83, T SepfRre {
S

=Y
(Ay (B) (C) (D)
84. I 3R

X

0

X

&

X

ob

)

o

x i
.

- D -
(A) (B) (C) ()
§7. & IR

T—"—l-q!: =l[$ TTL'?iﬁl
T mpfaul

ploj?2laj?ja |4

vi+ | +|4 | 0% |als

(A) (B) (C) (D)
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88.

89.

90.

91.

92.

93.

Which is the highest peak of Uttarakhand—
(A) Trishul (B) Nanda Devi
(C) Chogori (D) Neelkanth

*Operation Surya Hope is related to which state—
(A) Uttarakhand (B) Uttar Pradesh
(C) Bihar (D) Tamil Nadu

Who was appointed as a Nodal Officer for
Relief and Rescue operation in Uttarakhand—
(A) V.K. Joshi

(B) V. K. Sharma

(C) V. K. Thapliyal

(D) V. K. Duggal

Hon. Govemor of Uttarakhand is appointed by—
(A) Chief Minister of Uttarakhand

(B) President of India

(C) Prime Minister of India

(D) Home Minister of India

Who led the Chipko Movement—
(A) Gaura Devi

(B) Chandi Prasad Bhatt

(C) Govind Ballabh Pant

(D) None of them

‘Ansuiya Prasad Bahuguna’ is also known
as—

(A) Gandhi of Uttarakhand
(B) Garh Keshari

(C) Vraksh Manav

(D) None of these

Kalsi Inscription is related to—
(A) Emperor Chandra Gupta
(B) Maurya Emperor

(C) Emperor Ashok

(D) None of them
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93

Name of Kumaon in Purana’s—
(A) Kedarkhand

(B) Uttarakhand

(C) Uttranchal

(D) Manas Khand

Note : (Q.-No. 96 to 100) Read the following

96.

8

98.

29.

100.

figure and give suitable answer from
given options.

/

In figure triangle represents doctor, circle
is represents players and rectangle is
represents artist, then—

30

How many artists and players are doclors—
(A) 6 (B) 8
(C) 4 (D) 3

How many artists are players—
(A) 30 (B) 29
(C) 25 (D) None of these

How many artists are there who are neither
players nor doctors—
(A) 29
(C) 22

(B) 30
(D) 8

How many doctors are there who are neither
player nor artists ?

(A) 17
<) 8

(B) 30
(D) 17

How many piayers are there who are neither
artist nor doctor—

(A) 22
(C) 25

(B) 4
(D) 3

95.

96.
9%

98.

99.

100.

18
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(A) 6 (B) 8

) 4 (D) 3

fma womea Raemst §—

(A) 30 (B) 29

(C) 25 (D) T8 & FE TE

fehe HATER U/ & S 7 o faers B w =
gfl—
(A) 29
(C) 22

(B) 30
(D) 8

P Sfy O E 1 7 faard ® o =
FAThIT 7

(A) 17 (B) 30
(C) 8 (D) 17
SfFi—

(A) 22 (B) 4
(€) 25 (D) 3
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SET-A

PART-2 (Music) / 977 - 2 (§i<)
(Q. No. 101 te 200) /(795 §&AT 101 § 200 TH)

101. *Akhtari Bai® was known as—

(A) Akhtari Devi

(B) Begum Parveen Sultana
(C) Bai Akhtari |
(D) Begum Akhtar

102. ‘Shori Miyan’ is related to which singing

form ?

(A) Thumri

(B) Natiya Qalam
(C) Quaval

(D) Thappa

103. What term is used for *Vrind-Vadan’ is South

Indian Music ?
(A) Vadya Vrinda
(B) Orchestra
(C) Tala Kachahri
(D) Vrinda Gan

104. Who is the author of * Sangeet Chintamani’ ?

(A) Acharya Brihspati

(B) Pt. Bhatakhande

(C) S. M. Tagore

(D) Dr. Prem Lata Sharma

105. Music is based on which ‘Nad’ ?

(A) Anahad Nad
(B) Aahat Nad
(C) Swarit Nad
(D) Adrishya Nad

106. Which place is popular for manufacturing

traditional ‘Tanpuras’ ?
(A) Pune

{B) Miraj

(C) Shrinagar

(D) Assam

17

101.

102.

‘srEriarg frg 9w | fammma © E
(A) &0

(B) 9 I3EM gear

(C) &g 3etd

(D) 9" G

grifeat, forg maa-fawn @ gt € ¢
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163. 2feer e & &, g awa & fo, R

ST T WG o dEr 2
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(C) ara Fasl
(D) 3= M

104, gire At & o@F FA B ¢

(A) Jmard geeafd
(B) 9. yraETe
(C) og. T, TR
(D) =T. Ywar st

105. T o7 My, 68 A% & 9 T R 2

106.

(A) 3T8g 1T
(B) 3rmea =g
(C) aftw T2
(D) 3139y

s B 7
(A) T

(B) =
(C) =i
(D) mE™
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108.

109.

110,

111.

132,

. How many characteristics of “Nada’ are 7

(A) Two
(B) Three
{C) Four
(D) Five

‘Algoja’ comes under the category of which
instrument ?

{A) Avnadha Vadya

(B) Ghan Vadya

(C) Sushir Vadya

(D) Tatta Vadya

First Padamvibhushan in Tabla playing—
(A) Ustad Allahrakha Khan

(B) Pt. Shamata Prasad Mishra

(C) Pt. Kishan Maharaj

(D) Ustad Zakir Hussain

Who has said ‘Panch Mahashabda, for five
kinds of instruments ?

(A) Parshwadev

(B) Jagadekmalla

(C) Nanyadev

(D) Sharangdev

Which sign is incorrect according to
Bhatkhande Notation System ?

(A) Gitkiri (™

(B) Doosri Tali 2

(C) Teesri Tali 3

(D) Sam X

The ‘raga’ which is created by the
combination of more than two ragas, is
known as—

(A) Chayalag

(B) Sankima

(C) Shudha

(D) Ragansha

18
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108.

109.

110.

111

112.
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g7 '
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113. ‘Jadu Bhatt, was appointed as court musician

114.

[
ok
o)

ey

e

118.

7. Who of the

of which state after his appointment as music
teacher of Jorashanko Tagore family ?

{A) Rewa

(B) Tripura

{C) Vishnupur

(D) Odissa

Who has command over ‘Dhatu’ and ‘Mate’
(A) Gayak

{B) Tanirikar

(C) Vaggeyakar

(D)} Geetkar

. Which dance form is originated from Andhra

Pradesh 7

{A) Kuchipudi
(B) Kathakaii
{(C) Kathak
{D) Oddisy

. Rag Bihap belongs to which ‘Thata’ 7

{A) Rafi

{B) Kalyaz
{C} Bilawal
(D} Khama

following classified Raaga-
Raagin: and Putiz Raag 7

{A} Pi. Lochan

{B} Pt. Pundarik Vittha!

{C} Pi. Ramamatys

(D} Pt. Ahobal

What is the name of the son of Someshwar
Dev, the author of *Mansollas™?

{A} Vikramank Dev

(B} Bhoomall

{C) Jagadekinali

{D} Hridaynarayan
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119,

120.

121

122.

123.

124.

125.

‘Baul’ is a folk tune of—
(A) Manipur

(B) Aasam

(C) Orissa

(D) Bengal

‘Kankangi’ or ‘Mukhari’ melas are known
for—

(A) Shudha Swar Saptak

(B) Shudha Tar Saptak

(C) Shudha Mandra Saptak

(D) Komal Swar Saptak

Raga Bilaskhani Todi comes under which
‘Thata’ ?

(A) Bhairvi

(B) Todi

(C) Bilawal

(D) Marva

The 35 Talas of Karnatik Music
(A) Shadangas

(B) Shoshadangas

(C) Sapta Sooladi Talas

(D) Dhruva Talas

Identify the pair which is not correct—
(A) Bhimsen Joshi — Khayal Gayan

(B) Zakir Hussain — Tabla
(C) Sitara Devi — Kathak
(D) Ravi Shankar — Sarod

*Dhamar Tala™ is played with—
(A) Khayal

(B) Sadra

(C) Chaturang

(D) Dhamar

How many ‘Vikrit Swaras’ are used in ‘Raga
Shree™ ?
(A) 2
(€)1

(B) 3
(D) 4
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126.

127.

128.

129.

136.

131.

132,

‘Dwadash Swara Moorchana’ was first
introduced by—

(A) Bharat

(B) Matang

(C) Someshwar

(D) Sharangdev

Which tal is composed in various Matras in
each Vibhag ?

(A) Ektal

(B) Pancham Sawari

(C) Dhamar

(D) Shikher

Ma’, Nee’, Dha, Ni, Sa’ is the phrase of which
raga ?

(A) Miya Malhar

(B) Bahar

(C) Jai-Jaiwanti

(D) Malkauns

First string of Sitar is tuned in which note ?

(A) Sa (B) Pa
(C) Ma (D) Ga

Who is the author of ‘Nagmate-Aasif”—
(A) Mohammad Bin Qasim

(B) Mohammad Yunus

(C) Mohammad Raza

(D) Mohammad Aasif

Pakki Hori is sung in—
(A) Choutaal

(B) Deepchandi

(C) Dadra

(D) Dhamar

As per the ancient Rasa concept Gandhar and
Nishad Swaras create .......... Ras.

(A) Karun

(B) Veera and Shrinagar

(C) Bhakti

(D) Adbhut
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133. The layakari in which two Swaras sung in
two Matras is called—
(A) Tigun
(B) Kuwati
(C) Aadi
(D) Do-Tihayi
134. Which of the following is used in playing
‘Vitat Vadya’ ?
(A) Gaj
(B) Mizrab
(C) Stick
(D) Metal
135. Identify the correct pair of ‘Talas’ which
contains same ‘Matras’ & ‘Vibhagas™—
(A) Jhaptal-Sooltal
(B) Roopak-Teevra
(C) Jhoomra-Ada Chautal
(D) Kaharva-Dadra
136. The oldest dance form of ‘Manipuri’ dance is—
(A) Lai Haroba
(B) Garba
(C) Panguchal
(D) Tandav
137. ‘Harivallabh Sangeet Sammelan’ is
organized at—
(A) Amritsar
(B) Chandigarh
(C) Jalandhar
(D) Jammu
138. According to ancient scholars, seven string
‘Veena’ is known as—
(A) Chitra Veena
(B) Vipanchi Veena
(C) Margi Veena
(D) Dundubhi

SET-A
133. e wgard § € &3 Y S 9§ WA e
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(B) it
(C) It
(D) 2r-faers
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139.

140.

141,

142.

143.

144.

145.

How many chapters are dedicated to dance
in Bharat Natya Shastra ?

(A) 7

B) 6

(C) 2

(D) 4

“Kajri’ is originated from which state ?
(A) Mirzapur

(B) Lucknow

(C) Banaras

(D) Patiyala

‘Upaj anga’ is meant for—
(A) Tan

(B) Sargam

(C) Meend

(D) Layakari

Conclusive part of ‘Thumri’ is rendered with—
(A) Rela

(B) Kayda

(C) Ladi Laggi

(D) Jhala

‘Sadarang’ was the Pen name of which
musician ?

(A) Mohammad Shah

(B) Salamat Khan

(C) Nyamat Khan

(D) Bahadur Shah

Khaali of the Hindusthani Taal is also called—
(A) Taali

(B) Sannipaat

(C) Vikshep

(D) Visarjitam

The total number of syllabtes in Tabla—
(A) 2 (B) 20
(C) 10 (D) 16
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146.

147.

148,

149.

150.

.......... is placed on the bottom line of Treble
Cleff.

(A) Ma

{B) Sa

(C) Ga

(D) Pa

Ustad Bade Gulam Ali Khan was also good
in playing—

(A) Sarcd

(B) Saarangi

(C) Sitar

(D) Rudra Veena

The Bandish that has Lyrics, Tabla, Bols and
Sargam is—

(A) Tarana

(B) Chatrang

(C) Trivat

(D) Kajri

The frequency of the ‘Shudh Gandhar’ of Pt.
Srinivas is— '

(A) 440 Hz

(B) 288 Hz

(C) 320 Hz

(D) 270 Hz

‘Sanchari’ and ‘Abhog’ are the parts of which
singing form ?

(A) Jati Gan

(B) Gatha Gan

{(C) Dhrupad Gan

(D) Archik Gan

. Hira Bai Barodkar belongs to which

‘Gharana’ ?
(A) Agra
(B) Jaipur
(C) Gwalior
(D) Kirana
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152.

153.

154.

155.

156.

157.

158.

Langa and Manganiar are the folk singers of—
(A) Uttar Pradesh

(B) Arunachal

(C) Rajasthan

(D) Gujarat

Who was ‘Pran Piya’ 7
(A) Vilayat Hussain Khan
(B) Govind Rao

(C) Balwant Rai Bhatt
(D) Ramashraya Jha

Laggi-ladi is used in—
(A) Dhrupad

(B) Sadra

(C) Bada Khayal

(D) Thumri

‘Bal-Pench-Yukta Tan’ is the speciality of—
(A) Jaipur

(B) Delhi

(C) Gwalior

(D) Kirana

The process of vocal music is called ‘Varna’
tick the correct order—

(A) Aarohi, Avrohi, Sthai, Sanchari

(B) Sthai, Sanchari, Aarohi, Avrohi

(C) Sanchari, Aarohi, Avrohi, Sthai

(D) Sthai, Aarohi, Avrohi, Sanchari

‘Abhinav-Bharti’ an annotation on
Natyashastra is written by—

(A) Vishnugupta

(B) Beejgupta

(C) Abhinavgupta

(D) Kallinath

Raga Jog-Kauns is created by—
(A) Pt. Jagannath

(B) Pt. Ravi Shankar

(C) Pt. Shiv Kumar Sharma

(D) Savai Gandharva
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(D) e, e, SEAEr, HJard
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(A) v
(B) dre
(C) sfima T
(D) Fvams

W S FrE F i fEar—
(A) 9. =g

(B) 9. Tasiert
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159, Who is called the wizard of *Na Dhin Dhin

Na’?

(A) Kishan Maharaj
(B) Anokhe Lal

(C) Gudai Mahara;
(D) Ram Sahay

160. The structure of ‘Thata’ includes—

(A) Avroh

(B) Aroh

(C) Aroh-Avroh both
(D) Taan Aalap

161. ........... is called music.

(A) Singing

(B) To play instrument

(C) Dancing

(D) Combination of above three

162. ........... is called swar.

(A) Loud sound

(B) Sound of harmonium

(C) Voice of singer

(D) Sound which can be used in music

163. How many shudha swar are there in a Saptak ?

(A) 12 swar
{B) 8 swar
(C) 7 swar
(D) 22 swar

164. .......... is called vaadi swar.

(A) Most used swar

(B) Least used swar

(C) Swar which is not used
(D) First swar of Raag

1 (S TER—— is called Tarana ?

(A) Lyrics of a song

(B) Notations of a song
(C) Beats of song

(D) Nom theem tana nana
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SET-A
a1 f B & Sgw #E a9 B
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(A) e

(B) IIE
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(A) T T F
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=7 fr Fed € 7

(A) T AT FH

(B) BHITE® & S @l
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(A) 12 &R
(B) 8 &
(C) 7 &R
(D) 22 &R
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(A) 998 3o @ 9 @
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(C) & T T T
(D) TT & Yed & &

o fFd Fed € 2
(A) e & 9= &t
(B) a & = &
(C) g & ar F
(D) 5 & == W@ 7" &8 qE-AE #)
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166.

167.

169.

170.

171.

172.

173.

174,

Vishnu Narayan Bhatkhande is a ........... :
(A) Famous folk singer

(B) Popular bisinessman

(C) Classical musician

(D) Famous tabla player

Which type of Drum is played with
‘Bhangara’ ?

(A) Tabla (B) Dholak

(C) Nagada (D) Dhol

. Time of singing Sandhi Prakash Raags is—

(A) Mid-night

(B) Afternoon

(C) Joining time of day and night
(D) At4 am.

Chota Khaya! sings in a—
(A) Fast speed (B) Slow speed

(C) Dhamar taal (D) Jhoomra taal
How many Shrutis are there in a Saptak—
(A) 7 (B) 12

(©) 22 (D) 28

Taal Dhamar is a taal of .............. .

(A) Tabla

(B) Pakhawaj

(C) Dholak

(D) Dhamar

We need ........... strings for ‘Taanpura’.
A1 (B) 4

(SR (D) 7

We uses ......... swar in Raag Bhimpalasi.
(A) 7 (B) 6

(€) 8 (D) 4

We use .......... Komal Swar in Raag Bhairavi.
(A) 1 (B) 2

(C)3 (D) 4
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SET-A

167. ¥ & qrw Ry @ ¥ 97 fear Ser &
(A) T8 H (B) 3% &
(C) 7e & (D) T ¥
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(A) sl T &
(B) EI8T F
ORI s e w
(D) 9T 9% 9
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(A)gawad (B) Rt ag g
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(A) 7 (B) 12
(C) 22 (D) 28

171, O THR—
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(B) v@ES & G4 &
(C) Tveh & a &
(D) 39€ & 99 &

172, TG H oo ar axdr #
(A) 1 (B) 4
() 6 (D) 7
173, U7 HHqeT & A H T T B
(A) 7 (B) 6
€)5 (D) 4
174. T ST H T HHA A 8
(A) 1 (B) 2
(C) 3 (D) 4
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175.

176.

177.

178.

179.

180.

181.

182.

183.

Raags are related to ............ Jaati.

(A) Brahmin, Chatriya, Vaishya Shudra
(B) Masid Khani, Raja Khani

{C) Aurav, Charav, Sampoorn

(D) Khayal, Gazal, Geet

Raags are created from ............. .
(A) Swar (B) Thaat

(C) Taal (D) Laya
Raag Basant belongs to .......... Thaat.
(A) Poorvi (B) Marva
(C) Todi (D) Bhairavi
Aadachaar Taal have ............ Matras.
(A) 16 (B) 18

(C) 20 (D) 14

Word Masid Khani is related to—

(A) Dance
(C) Instrumental

(B) Singing
(D) Mosque

Following combination of swaras belongs to
S raag.

Re Ga Re Sa,Ni Sa Dha Ni Re Sa
(A) Kaafi Raag (B) Jai-Jaivanti

(C) Multani (D) Bhairavi

Raag Hamir have ......... swars as vadi and
samvadi respectively.

(A) Dha, Re (B) Niga

(C) Dha, Ga (D) PaRe

Raag multaani doesn’t have these swars in
Aarooh—

(A) Re, Pa (B) Ga, Dha

(C) Ga, Ni (D) Re Dha

Raag Durga belongs to ........... Jati.

(A) Aaurav Charav
(B) Aaurav Aaurav

(C) Aaurav Sampoom
(D) Charav Charav

SETy
175, T G e e el £
(A) s, &, 999, 9
(B) 5HE @1, W@ @l
(C) 3irga, wrsd, w0
(D) &I, T, T
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184.

18S.

186.

187.

188.

189.

196.

191.

192.

Singing time of raag desh is ............. ;
(A) First part of night

(B) Second part of day

(C) Evening

(D) Morming time

The circle of taal from first maatra to last
maatra is called—

(A) Aavartan (B) Theka
(C) Palta (D) Kayda
The process of placing ‘Shudha-Swaras’ on the

wire of veena was initiated by the scholar—
(A) Ahobal (B) Bhatkhande
(C) Somnath (D) Vyankatmakhi

Which language was used for ‘Prachin
Prabandha Gayan’ ?

(A) Urdu (B) Sanskrit

(C) Arabian (D) Hindi

Which of the following are ‘ Achal-swaras’ 7
(A) Sa-Ma (B) Re-Pa

(C) Sa-Pa (D) Pa-Dha

‘Kaku’ is illustrated in which chapter of
‘Bharat-Natya Shastra’ 7

(A) 15 (B) 17

(C) 32 (D) 33

Angik, Vachik, Aharya and Satvik are related
to—

(A) Pakhawaj (B) Dhrupad

(C) Nritya (D) Prabandha
Which of the following is not a ‘Sandhi-
Prakash Raga ?

(A) Shree (B) Shudha Sarang
(C) Marva (D) Poorvi

Middle part of the vocal chord is known as—
(A) Glottis (B) Thyroid

(C) Cricoid (D) Wind pipe
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193.

194.

195.

196.

197.

198.

199.

200.

What is the symbol of ‘Laaghu’ is Karnatak
Music ?
(A) S
(C)3

(B) 0
(D) 1

Which of the following is used in ‘Samveda’,
as a synonym of swara ?

(A) Niyam (B) Aharya

(C) Yam (D} Sam

‘Bol’ of ‘Tala’ in ‘Prabandha’ are known as—
(A) Paat (B) Tenak

(C) Karan (D) Virud

Main singer of Samveda is known as—
(A) Pratiharta

(B) Udgata

(C) Prarambha Karta

(D) Samvachik

‘Bharat Ratna’ award was conferred on
Pt. Ravishankar in which year ?
(A) 1999 (B) 2005
(C) 1995 (D) 1902

Who was the father & Guru of Annapumna
Devi ?

(A) Amjad Ali Khan

(B) Ali Akbar Khan

(C) Alauddin Khan

(D) Amir Khan

‘Shaam Chaurasi Gharana’ is originated
from—

(A) Vishnupur

(B) Patiala

(C) Darbhanga

(D) Rampur

Which of the following raga belongs to
‘Poorvi Thata” ?

(A) Adana (B) Shree

193.

194.

195.

196.

197.

198.

199.

200.

(C) Sohini (D) Kalingda
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